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General Studies
Paper-1
(sLblp LHYId gy EiSloD aigaib)
(Tamil & English Versions)
Marks : 300

ellewTemTLILGTTT SH(EhHSsMer QuTg) GMNIIygeT
General Instruction to the Candidates:

slleorm et UL ULl srsdlain, alflars alamLwefls@h amaullaih 2 aferg)
This Question Paper is descriptive type in Degree Standard

alerrggrarmerg Slp womn oyESe agamsatls 2 gl g6smid sHtssn @\milsr,
Spmidle augalls) STl ater GHILSGeT (igaumers)

This Question paper is printed in Tamil and English Versions. In all matters and in cases of
doubt English Versions is final.

iii. @&6sTme GUIMISSMT IYsTs auSMSNGsT NI Wempuilsemoe sdusnaTsGa
sefurs wSICLTSaT IS ILLalseme

There is no reservation of marks for neatness of execution and correctness of spelling in

respect of this paper.
difley - o
Section - A
(Das&ddlu gereilsd el wefls@n elerm auams)
(Very Short Answer Type)
&Mloy :

i aQararinEh 30 QernsEns s WsToam el waflsgean
Note : Answer not exceeding 30 words each
i,  gaiGarm elarmaln@d ewperm G EeT
Each question carries three marks
iii. Qar@ssiulGerer pluSmang elarTasetls samaGuaid wpliug
sl & &EhsE WG el wefls&eaL.
Answer any thirty questions only out of thirty five questions

(30x3=90)
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11.

12.
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UNITI
(MODERN HISTORY OF INDIA AND INDIAN CULTURE)

. LOMIGET LmesoTGL 6TeoTLIGUIT WITT ?

Who is Mangal Panda?

. SererT & Quissh LNl SHSESLTS 6TSIs.

Briefly write on the Home Rule Movement

. Werm&lll GUT&Smen 2 L 6Tigds SMT6UOTLD 678 ?

What was the immediate cause the Battle of Plassey?

. “wyre swrrgslun” @flss e fm Gl mwgis

Write a brief note on 'Poorna Swaraj'.

gwrrews sl dullar Crrésmismer GNILIGS.

Mention the objectives of Swaaraj Party

. &1 a8l ahg e Yrbilssiu’Lg? st Crrssnsmen ailaufl.

Which year was the Ghadar party established? Explain its objectives.

. 1939 gyemi(® SMEISlTaD YmESsTHeT 66T Tredlermior ClEWISTTS6T ?

Why did the Congress Ministries resigned in 1939?

. “Gael ubg" ereTm WTT Im&SSCnmd? 9HNE STTEILD &umis.

Who is called as 'Desh Bandhu'? Give reasons for it.

SO S.

Mention the names of 19th Century Social Reformers in India .

auasTll @Quisassdlerme gnulL elameraisamen alleufl?
What are the effects of Wahabi Movement?

1916-b g emi(H &GerT UUESSSRT PsSuSgnsSms cstlal
State the importance of Lucknow Pact - 1916

relel F L Gemg srmdlyerd ear sdliTSag)?
Why did the Congress oppose the Rowlatt Act?
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UNIT II
(GENERAL APTITUDE AND MENTAL ABILITY)

13. 48, 60 wHmid 64 gy eemiEaTTsd s &flurs suEUED 100008 6l Gonhs Wi
6T6UUTEMEIOTE: SITEUITS ?
Find the greatest number less than 10000 which is exactly divisible by 48, 60 and 64.
14. LG eupLmEssln @m OCstms @Qrlpliurs Goumr@Gwefls oy mIO&E samss Iu@ELD
sefleully eldlsid eTeTereuras @)(m&as GouemT(HiD ?
At what rate percent per annum at simple interest will a sum of money double in 8 years?
15. @ gSdlar cpmaal L Sdlear g @ suLss WEGsTed sl HieTergl. F&ITSSIL 6,
ey&Gamemr LrliLeTellesr el wirg) ?
An equilateral triangle is described on the diagonal of a square. What is the ratio of the area of
the triangle to that of the square?

16. A , B @@meumd Caibg @ Gosmesmw 12 prisefled (ppddlarmearnt. B wlG osiGameemw 30
G seflsd el eTeofled A B 9eiCousmeveniul sTHGemen Ll saflsd (LlglLmir?

A and B working together can finish a piece of work in 12 days while B alone can do it in 30 days.
In how many days can A alone finish the work?

17. g6 Blme allemmiser CaailEaslL@LD (PmMSMET &nm)is.

Mention the methods of collecting primary data

18. garmnuraTn elad@ flepdflamu ahggsar GHiear alaufl.
Define mutually exclusive events with example

19. 2 (e elleTssUuLLD nmid L,Gamer susmruLL - CamLBsss
Distinguish between Pictogram and Cartogram .

20. e, ouuiled 6 GeusTemer LHMID 9 MUY UGGST @(H&Slarmer. Sl BHg @@ LbSIS6T
TS SLIL(H 6ot meur.

(9)) @rewT(Hd QeueTemer LIGGISHeTTS @ HUILSHSTET [ElSHLpey 6T
@ GeusTemer(l UGG LOHGMTETY S@HUIY LhGISTTS @\MHUILSNSTET HlSpSS6| W) ?

A bag contains 6 white and 9 black balls. What is the probability of drawing 2 balls
a) all the two balls are white balls
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. b) one white and one black ball?

21. QFwmnens [iewTewriley TeirmmTed 6T6uT 60T ?

What is Artificial Intelligence (AI)?

22, Fra|GFHem Guerenenn gemioli (DBMS) 6TeTmmed 6T6uT6oT ?

23.

24.

25.

26.

27.

28.

29.

30.

31.

What is Database Management System (DBMS)?

UNIT III
(ROLE AND IMPACT OF SCIENCE AND TECHNOLOGY IN THE
DEVELOPMENT OF INDIA AND TAMILNADU)

GOUMTE 6TEUTLIEN WTemeu? o6t LedGoum giseTsemer ellstédle gnmis.

What are called Quarks? Explain the different varieties of particles.

SQUID eTertugy wirg? g6 LwerLr(hsemerd @GNILabhs.
What is SQUID? Mention the applications of SQUID.

@IwMmemss LiGuLIg S6T 6T6ITMT60 6T6uT60T ? @IT6utT (D ST(NSSHISSTL (HS6T S(IhHS.

What are natural polymers? Give any two examples.

smeul L LhlewT 'A" 2 aTer e;CaHemID epaTm QUITHLSemend Snml. smeulLLiler A @Gemmumlipermed eFHLEHILD
slwrdlsemer 6Tipg.

Name three sources of vitamin 'A' and mention the diseases caused by it's deficiency.

GuomGeorm(&GaTmeoTed o) 6u0Te LIMlg. 6TETMT6ED 6T60T60T ?

What are monoclonal antibodies ?

seurerf]l @erIGLHESL euemTLIm)

Define Parthenogenesis

"o ullflu gy &&lemeT LNMITEG6mM” 6TeITMT6E0 6T60T 60T ?

What is Biological Oxygen Demand?

“gmigs gflfl” eermmed ereurewr ?
What is Golden rice ?

“Blesdirmsar unl fmy Gilly wsis

www.vetriias.com

Mobile No. 9500005522, 9600124042 Page 4




& 0 TNPSC
vLé Group | Mains - 2015
‘_s,,,_\z.. .. .. .. .. . .

Write a short note on 'Stars'.

32. QFHTEmeL 2_GUTITGH60D 6TEOTMIT6D 6T6UT6UT ?

What is Remote Sensing?

33. Gureng QurmeTsemer @erid eurflwnrs aumsILESS0ID
Categories the abusable drugs

34. "ueflTed QFWETESLL” FTaTUMS aImTILM)

Define the term 'Multiprogramming'

35. UL @Nulpise undlw @Ghliy euemrs
Write a note on Bar Coding
Ifley - gy
Section - B
(FmSawns alemLwefl&E@h allerm ams)
(Brief Answer Type)
Gmloy :
i  eaGararhngd 120 Qarnsens @ Warwa almLweflssa
Note : Answer not exceeding 120 words each
ii. G elarmalngd e’ wdllcuemsar
Each question carries eight marks

ii. Qar@&siul@erer pULSmshg alarraseflsd smaiGuemid Ldlameorsg)

sllerTa&EnaE WG el wefls&eaL.

Answer any fifteen questions only out of eighteen questions

(15 x 8 =120)

UNITI
36. L&gSaMTsT @hdwurails eer eslem llssaTsams @mss (igwalsemen?

Why did the Dutch people never become a strong power in India?

37. @hdw Cadlw srmidlyeils Wsardlesenss, sallTaurdlsena@uearer Gamm L U@L,
Analyse the differences between Moderates and Extremists of the Indian National Congress.

38. gl @uissd Hnssiu L g e ?
Why the Non - Cooperation Movement was suspended?

39. sl sysmusdngG F.CaLym. ellear urisailifemear wSOGHs
Assess the contribution of E.V.R to the Tamil Society.
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40. Gordlur 1 Cooullesr Lsmilamer GNILLIHS

41.

42.

43-

44.

45.

46.

47.

Mention the services of Jyotiba Phule.

@i grs s 1935 -6 2 ater & euflest Ll Ghliy sipgis
Write the important provisions of the Government India Act of 1935

UNIT II

35cm alllLeTer 6@ 2 (HmeT augel GewieulT QFMLly  (PUEUGID SewuTewlT 2 6TeTS).
Qar ipuledlmig 11 el LT seureunf srhiGaslul el Lg) eefled, Gam ipullaiear Biro Gl gnu@Gid
eiipselemws seuTHLlg.

A Cylindrical tank of diameter 35 cm is full of water. If 11 litres of water is drawn off, find the
drop in the water - level in the tank.

ROUT QWM GSlmrsmer eaiGaurarmmuyn e5.900 @ Qurwsg eeriar almeulse 10%
TuGemSWD, LHGmreaThler alameuls 10% meiLSmawn Gumdlnmr. eeflsd geuT GumLd @eorLid
(91) medLL LmmILd yeumlerT elflFmiGEmerns smevers.

A man sold two horses for Rs. 990 each gaining 10% on the one and losing 10% on the other.
Find his total gain or loss and also its percentage.

QurgICETsE I Laumams@n Fmiy CrréE I L aumeurd@d 2 aiem Gaumium® wirg?

Distinguish between General Purpose and Special Purpose table.

@irewT® usmaL 6T 2 HLLOUGLD Curg gigeT GG 2 aTer YeTaflaafler srenTemnilame
(91) 8 Gued @lLgMSETaT KlaNSHS56]

(@) 7 wmmid 11 @edeurined GmULSHSTET Blapss50| Y &aMmns STeuTeaLd

Two dice are rolled, what is the probability that sum of the numbers on the dice is
(a) greater than 8

(b) neither 7 nor 11?

senfleflullesr LEGeuM SHemTenmasmar unml allerd @G

Explain the various generations of computers
UNIT III

Modern 6T60TLIG) WITGI? 9|&H60T LIIGITLITL 60L& Snp)l

What is a Modern? Give its uses.
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48. ojeoGlueLmed Lmmid  edGQuEdGLredlerd eTeiTmmed eTeuTeET?  oyerdGILEOLMerdleaTmed  SMMILILMG Sl
esmuId FTCHMHS6T WiTene?
What do you mean by asbestos and asbestosis? Discuss the environmental hazards from
asbestos.

49. et GCemmeutlt Qauwioudled 2 6em auflpsmmaamer GDIIINGS
Outline the steps involved in gene cloning

50. nem G&a Urssdlear a6g wdlldamer eleurd
Discuss the nutritional value of SCP (Single cell Protein )

51. Gameneuwemriige Latefl elleurmisefler demnsemer ellord@s

Explain the advantages and disadvantages of the Remote sensing data

52. GYSMTTSMET aIMSLILIMHSSHILD
Explain the classification of drinkers.

53. Bluetooth wmmid Wifi umil ellfleurs ellers@as
Explain in detail the "Bluetooth" and "Wifi"

Hifley - @)
Section - C
(eiifleuras elemLweflé@Ln elerm auema)
(Detalied Answer Type)
&Mloy :
i.  eaQararinEh 250 QernsEns e Wsroam el wafldsaean
Note : Answer not exceeding 250 words each
i.  geaGarm elarmalnEh udlmearnbg wEICLemLTsaT
Each question carries fifteen marks
iii. Qar@ésiul et WlUSmSHS elarrasaflsd senaGumid gy m)
allerTs&EnsE WG el weflsaea.
Answer any Six questions only out of eighteen questions
(6x15=90)
UNIT I

54. @b wrble wmdrenwoin unmfl el
Elucidate the reorganization of Indian States.
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gL L uyiy @usstd (1903 - 34) undl eif sL(Her alemrs
Write an essay on Civil Disobedience Movement 1930-34

@i Cadw o awritey euemiidd gmLBESSNSTET SMTaoBIGmeT 6llauif]
Describe the factors favouring the growth of Indian Nationalism.

UNIT II

2 gy emraser HMID 3 QuenTassT 6 Goumesmil Yipdhs Slerph 7 werflGrrd ez 5 Brigear Gasme
Qeuidlmriser. 4 guemaar wnmid 4 QuemisaT 9|65 Geusmaemw Q& Herwpd 3 welCrrd afshn 7
EBriger Gosme Gewidlpriser. 7 gemiser learwn 4 weaolCrrn wl G Gowme GsSTH IHS
ColmEEmIL (LPlg &8 6TSHSHEMET HIAT I (GLh?

2 men and 3 women working 7 hours a day finish a work in 5 days. 4 men and 4 women working
3 hours a day do the same work in 7 days. Find the number of days in which the work is done by
7 men only working 4 hours a day.

QUWs s Ligemerd snilener eumhgl ig6T Gewesumigme Gowiiuligusd Gsmsmi@h allers@e
Draw the circuit for full adder and explain the concept with truth table.

UNIT III

Qeailwsmrym eedl jemevssaflest LweTLT® LD e, SLOEDT 6T(GIS
Write an essay on the uses of ultrasonic waves.

60. L4,58180smaelsem LaTURSSILEL LG Wwammaamer o]

61.

62.

Discuss the various methods of using pesticides.

urei g sefler Hmiagdle Sniir UNGEsGOLLSlaT 2 L nElFweilws & mflemsr ot
Describe physiology of urine formation in the mammalian kidney.

L 0Gssafl6 sTeTiL@BLD 2 L6 mioly Camur@hissmer sl

Describe the range of thallus structure in Algae.
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